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The horizontal beam of section Shown in figure. is
4m long and is simply supported at the ends. Calculate
the maximum Uniformly distributed load it can Carry if the
tensile and compressive Stresses must not exceed 20

MN/m*2 and 40MN/m*2 respectively.
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# A cast iron beam cross-section is given in figure. When
this beam is subjected to bending moment the tensile Strees

at the bottom edge is 30MN/m*. Calculate
1 The valve of bending moment

2 Stress induced at the top edge. —

> toief ey

20mm
'y 'T_'
| SO
!
I L mvn

J‘ 300 MM Pl +



S0l
(1) Cenhvid — J

(1 MD?
(™
() o¢

# A 280mm x|20mm T-Sectim besm
s o be wed @ a Gtdery of 3emt l@ﬁi’fﬂ-
Find e voufemby digtubuied Good WOhith @n
be  cavued by He beam, If the peunissible
Sbess b )20 Mfa. and T = TSX10°mm"

T} e Conbdever 03 Shegthened by Jomm Hick,
Steel plates welded et the top opd leotom ﬁﬁarac&
to wwithslavd @ 4D/ InGrease lond | f—l'nd H.e w\di,

of He plales and the lenghh ovet ©hith Hee

Pate ghowd exlend, Hie woxwm Shess bel
"0
He Same



2 .30 mym

|< 120 mn -i

(hiven T = 75%10° mmY
O = |25 Mba

[ 6ad i \NCyanse sz Lo/ dee o addatim ’(f plate
Wik Lomm MHucknes.



MOMW 05; ﬁ%‘is,ﬂné& , M= @_QL
2-

HM, Lgm: | Yo mMmm

Uﬁ'"j Ec«dﬁ'«g

M_

T 9
G j2o
_ISF\UE - 40

=2 W= |03BY N4,

M= 648D *¥10331 = £6964 N

L_) 5
e Lizd iaceased 'zsa 4O/ Hen
W= 1033Yx |40 = |H468 NJ
-
Ond Yooe G inrase

oA
Doy = 140HO = SO



Now, 1nocased bfmﬂwg Mavnent-

M= Wt uy68x 3 6"

- = 33—15)‘“] N-mm
L= Z-
Now T e L
/ d T
sp T
T = H2-S‘Xl{}6 m"":ﬁ

Nw, \nGQeare In M0Y = llz-sxlog—fls"‘lﬁ‘

= 37s X106mm'

Coledahen o csidim  and length of bhe plase

g
2 x (bﬂb —+ bLx10Y ng) =3)Ss RIDG

&3

bx o 3 4 20b¥yus T = 335 R0
6

l”( 10° zoxlws) 315 x10

= 73=<D
h = > l — = I tumwmm

(20666 (667




For Mhe inoeased load BM  veades maximen
pevw's'sdbbe- vebe 66964 N-m ab a dutane f

2 %
oy d (U463 X
M= =g = =%
a8 T
669ty —
2 2 x 6664
L= | yut8
= 2» 6T -~ Zoum




